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(ii) Paraliei : keer=ki+ka

(iii) Spring cut into two parts
in ratio m:n

e (m+n)k e (m+n)k

m n

Kew = K | ke

ki1 ka2

m in

= (y AZ-x2

i
(i) Acceleration : a%x
dt?
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(iv) Phase : wt+ ¢

(v) Phase Constant: @

Linear SHM

(i) Displacement : x = A sin (@t +¢)

(ii) velocity :-g—::- = A cos{wt +¢)

-AW? sin(wt + g)
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(i) KE. = % mw(A? - x2)

(i) U= %mw‘xz

(lil) E = K+U= -%—mw’A‘

= Constant.

x =A sin (@t +4d) Where

A = \/Ai + A,i +2A A c05¢

and tand = . i A
Ay+Azcosg

(i) Displacement : fi = @,5in (Wt + @)
(i) Angular Velocity : -g-?- =f () cos{wt+¢)
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(ifi) Acceleration :K‘; =-fw?sin(wt + 9)
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(iv) Phase : wt + ¢

(v) Phase Constant : ¢




